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Subtracting without Regrouping Name:
Solve each problem. Answers
1.
1) 285 2) 6,393 3) 45 4) 828
- 12 - 4,150 - 30 - 501 >
3.
4,
5 7,453 6 77 0 251 8 4,527 >
-1,131 -62 -120 - 2,210 6
7.
8.
9 32 100 661 1) 5,223 12) 91 9.
- 20 - 40 - 1 - 40
— — — 10.
11.
12.
13) 548 14) 6,752 15) 43 16) 537 13.
-134 - 520 - 30 -414
- - - - 14,
15.
16.
17) 4,215 18) 49 190 887 20) 8,169 17
- 3,101 - 36 -620 - 7,033
18.
19.
20.
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 273
) 285 2) 6,393 3 45 4 828
- 12 - 4,150 - 30 - 501 » 2243
273 2,243 15 327
3, 15
4 327
5 7,453 6 77 0 251 8 4,527 s 0322
1,131 - 62 =120 2,210 . 15
6,322 15 131 2,317
. 131
8. 2317
9 32 10) 661 11) 5,223 12) 91 9 12
- 20 - 40 - 1 - 40 621
12 621 5,222 51 1o
11, 5222
12 ol
13) 548 14) 6,752 15 43 16) 537 13 414
- 134 - 520 - 30 - 414
414 6,232 13 123 . 6232
15. 13
16. 123
17) 4,215 18) 49 19) 887 20) 8,169 - 1114
- 3,101 - 36 - 620 - 7,033
1,114 13 267 1,136 18, 13
19. 267
0. 1136
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
15 327 5222 2317
12 6322 273 51 1.
15 131 2243 621
2.
1) 285 2 6,393 3 45 4) 828 3.
- 12 - 4,150 - 30 - 501
- - - - 4,
5.
6.
7.
8.
5 7,453 6) 77 ) 251 8 4,527 9.
-1,131 - 62 - 120 - 2,210
- - - - 10.
11.
12.
9 32 100 661 11) 5,223 12) 91
- 20 - 40 - 1 - 40
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